	Transformação
	Fórmula
	Indicação
	Gráfica

	P ( F
	F=P (1 + i)n
	F=P (F/P;i;n)
	P                      F

	F ( P
	P=F
[image: image1.wmf]n

i)

(1

1

+


	P=F (P/F;i;n)
	P                      F

	U ( F
	F=U 
[image: image2.wmf]i

)

i

(

n

1

1

-

+


	F=U(F/U;i;n)
	                           F

	F ( U
	U=F 
[image: image3.wmf]1

1

-

+

n

)

i

(

i


	U=F(U/F;i;n)
	                           F

	P ( U
	U=P
[image: image4.wmf]1

1

1

-

+

+

n

n

)

i

(

)

i

(

i


	U=P(U/P;i;n)
	P 

	U ( P
	P=U 
[image: image5.wmf]n

n

)

i

(

i

)

i

(

+

-

+

1

1

1


	P=U(P/U;i;n)
	P 

	G ( F
	F=G 
[image: image6.wmf]2

1

1

i

ni

)

i

(

n

-

-

+


	F=G(F/G;i;n)
	

	G ( P
	P=G 
[image: image7.wmf]n

n

)

i

(

i

ni

)

i

(

+

-

-

+

1

1

1

2


	P=G(P/G:I;n)
	


u  u  u  u





u  u  u  u u





u    u     u    u





u    u    u    u





0     1      2     3     4





G





2G





3G





F





0     1      2     3     4





G





2G





3G








_1105958867.unknown

_1105960081.unknown

_1106032485.unknown

_1105960168.unknown

_1105959729.unknown

_1105957495.unknown

_1105958634.unknown

